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CBA Practice paper model answers 

Basic Accounting I (BAI)

Practice assessment 3

Section 1
Task 1.1
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(a) What will be the entries in the sales ledger?
Sales ledger

Debit

Amount
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[Dethin Warehouses.

[Crosby and King

[ReL Lt

[Walker Products

(b) What will be the entries in the general ledger?
Generalledger

Debit

Amount
unt name mou

[Sales ledger control
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Task 1.2
[image: image3.png](a) What will be the entries in the purchases ledger?

Purchases ledger

Account name

(Queensway Traders

[Jefferson Lta

(b) What will be the entries in the general ledger?

General ledger

Account name

[Purchases ledger conrol

[Purchases retums

AT





Task 1.3

[image: image4.png](a) What will be the entry in the sales ledger?

Sales ledger

‘Amount

Account name 5

Debit  Credit
(GRB Lt

(b) What will be the entry in the purchases ledger?

Purchases ledger

‘Amount

Account name Debit  Credit

(Grove Gears.

(c) What will be the FIVE entries in the general ledger?

General ledger

‘Amount
£

[Purchases ledger conrol 344]

Account name Debit  Credit

[Motor repairs 320
AT

[Refreshments

[Sales leager control





Task 1.4

[image: image5.png]What will be the FIVE entries in the general ledger?

General ledger

Amount
£

Account name Debit  Credit

VAT

[Office expenses

[Motor expenses.

[Other operating costs

[Petty cash control





Task 1.5

[image: image6.png]Discounts allowed

»|1Jun[Balance of 742[30 Jun_" = |Balance cid 788[4
»]20Jun__[Sales ledger control 4 4
> [Total 788 [Total 788[4
DI [Balance bid 788 4
Loan from bank
300 |Bank 500 1Jun [Balance bfi 15000

>[50 Jun "= Balance cia 24500 5Jun___|Bank. 10000[4]
> [Total 25000 [Total 25000[4
¥ [ aur [Balance bid 24500[4)






Task 1.6
[image: image7.png]|Loan from bank 25,000 25000)
[Bank charges 45| 48]
[Petty cash 200) 200
[Motor expenses 1,457 1467
[Bales 153.780| 153780
[Bank interest received 3] 3]
[Miscellaneous expenses 1819) 819
[Motor repairs 2191 2191
[Insurance 2,300 2300
[Capital 41,766 41769)
[Motor vehicles 45,400 45400
[Sales retums 550) 550
[Purchases retuns 2437 2432|
[Sales ledger control 50,218 60218
[Cash atbank 2,187 2187
[Hotel expenses 525| 525
[Purchases ledger control 78,165 78165|
[VAT owing from HiM Revenue and Customs| 556) 556
[Wages 31615 31615
[Purchases 99,175 99175
[Fixures ana fitings 40,397 40397
[Office expenses 5,387 5387
[Commission received 3,876 3875
[Rentand rates 10,000) 10000
[Totals 305122 305122






Section 2

Task 2.1
[image: image8.png](a) Complete the entries in the sales day-book by inserting the appropriate figures for each invoice.

Sales day-book

130 Jun |Patel & Pit 448 4,896 816 4080 4,080)
130 Jun [Mcandrews Lig 47 7440 1.240) 6200 6,200
130 Jun [Barratt Designs 48] 3840 840 3,200 3,200
130 Jun IBGL Lta 449) 1086 176 880) 880|

IPurchases day-oooks should never include analyss columns.

PPurchases credit notes are entered n the sales reums day-book.





Task 2.2
[image: image9.png]Credit note

Jessup and James
10 Rounds Hill

Darton, DF12 7TPS.

VAT Registration No. 325 3090 00

To: GoldLtd
14 High Street
Darton, DF11 46X

50.... product ‘Nelson’ @ £10.00 each
VAT @20%

Total

Creditnote number. 1J404
Date: 18 July 20X

500.00
100.00

600.00

Stamp, to be completed:

[Fas the corect rade discount been applied?

C—

[Has the comect setiement discount been applied?

[Not applicadle |+ ]

[Can this credit note be authorised?

C—

lofthe credit note, including VAT?

[Ithere is an error, what should be the total amount

le 540





Task 2.3
[image: image10.png](a) What will be the account code for Jessons Ltd?

[JEssoot

(b) What will be the account code for Jinks Ltd?

[Dinksoz2

(€) Whatis the purpose of allocating account codes to suppliers?

To ensure accounts can be found quickly and easily in the sales ledger.

To comply with the suppliers’ code of practice.

To comply with legislation

To ensure accounts can be found quickly and easily in the purchases ledger.





Task 2.4
[image: image11.png]tMay  |Purchasesretums-ON1s0 | 2220[1Apr  [Balance b 1.750)
110 [purchases -Imwoice 3775 950
124ay  [Purchases - nvoice 3789 1.890)
lo2way  [Purchases - nvoice 3797 845

Complete the reconciliation statement below.

Purchases ledger account reconciliation

Sanots sndSons
atance oustanding a pr supplerstatement 29 sy s e
riics 3595 mssin o purnses ageravoourt ] < [
|Balance as per purchases ledger account £ [a215






Task 2.5
[image: image12.png](Complete the remittance advice note below.

Gold Ltd
14 High Street
Darton, DF 11 4GX

'BACS REMITTANCE ADVICE

To: [Haggary Lid v Date: [31 July 20XX v

‘The following payment will reach your bank account within three working days.

Amount

number





Task 2.6
[image: image13.png]INVOICE NO 61557

Gold Lt
14 High Street, Darton, DF11 46X
VAT Registration No. 208 3827 04

To Bonkng oate 10 Juy 20
50T Paace
oaton Putcnsss arce . BK101
oFtrscz
uny | proaer | Amoumbeore [ yr aross
Crunts code X : :
1000 Lz 500 - sua0





Task 2.6, continued
[image: image14.png]INVOICE NO 61558

Gold Lt
14 High Street, Darton, DF11 4GX.
VAT Registration No. 208 3827 04

To s et 102000
2o hen
Saton o7 10988 Purchas orderi: 20
iy | promer | ATemBe e | oross
o pros i« s :
ko 50 w00 w05 5505

Gold Ltd sometimes offers a discountf an order is placed for a large quantity of goods.

(b) Whatis the name of this type of discount?

[Bulk discount





Task 2.7 

[image: image15.png]Complete the statement of account below.

'STATEMENT OF ACCOUNT

GoldLtg
14 High Street, Darton, DF114GX.

To: BandJ Bains Date: 31 July 204¢

1 uly |opening balance 3000
l6 Juty [Imvoice 161 1205
|8 July [Credit note 81 2500
115 July [invoice 180 285
118 July [invoice 185 750
l20 Juty lInvoice 191 110
|29 July [Credit note 88 500
I31.Juty [Invoice 210 1115
(31 July [Credit note 290 150

[Total amount outstanding 3315





Task 2.8
[image: image16.png](a) Has the correct amount been paid?

Yes, the cheque was received too late to claim the discount

Yes, the cheque was received within 10 days and the discount was taken,

No, the cheque was received too late to claim the discount.

No, the cheque ws received within 10 days butthe discount was nottaken





[image: image17.png](b) What TWO items have not been included in the payment?

Invoice 1501

Invoice 1600

Creditnote 126

Invoice 1626

Cheque

Invoice 1690

Invoice 1700

Creditnote 140






 Task 2.9
[image: image18.png]‘Select one option in each instance below to complete the sentence.

apatincome accurs when [mioney s receed r1ang 1 one o Vansacions sugh 3 e sale of an asset.

Revenue ncome occurs when [money s receNed elaing o egular ransacions such 35 535

aptal expendiure occurs when [2purchase, alealo or mprovement o an ss3etakes plac.

Revenus expenciure occus when [3 purchase s made elaing o Garo Gy g expenses

et et usmars sz
e s n ot ot e s i [rpr s




Task 2.10
[image: image19.png](a) Show whether the following statements are true or false.

|Liabiliies plus capital is equalto assets

|Capital plus assets is equalto liabilties.

|Assets less liabilies is equal to capital.

(b) Insert the correct answer to each of the following questions.

[ assets total £11,000 and liabiltes total £6,000 what is the amount of capital? 5000
|f capital totals £23,000 and assets total £58,000 what s the amount of libilties? 35000
[ labilies total £17,000 and capital totals £88,000 what s the amount of assets? 105000
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